COUNTY OF ROCKLAND

Department of General Services
Purchasing Division

Contract Award Notification

Title:

Contract Period:
Original Date of Issue:
Date of Revision:

BID No:

Ordering Method:

Authorized Users:

Pump Parts-Gorman Rupp Pumps

December 27, 2021, through December 26, 2022

12/27/2021

RFB-RC-2021-111

Special Request (open item reference)

County Agencies, All Political Subdivisions

Address Inquiries To:

Michele Phillips

Purchaser |

845-364-2984
845-364-3809
phillipm@co.rockland.ny.us

Description
This contract is to provide various Gorman Rupp replacement pump parts.

Contract #

Vendor Number

Contractor & Address

Telephone No.

BID 21-111

0000024982

Siewert Equipment

10 Corporate Circle

Albany, NY 12203

Contact: Brian Ellsworth
bellsworth@siewertequipment.com

585-224-7913

585-482-9640
Main Office
Fax: 585-482-4149

HOW TO USE:

This is a special request contract. When placing an order enter a separate line for
each item ordered. The proposal pages are searchable. Just go control F and search
by part # or however you want to search by, and the item will come up. Please put
all information on your special request including part number. There is also a %
discount line for items not on bid. When using please put all information, part
number and what is being ordered.

PAGE 1 OF 17




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 1

COUNTY OF ROCKLAND

DGS — PURCHASING DEPARTMENT

BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
Section | - Gorman Rupp T3A3S-B Pump Parts List
#1-1 Pump Casing for T3A3S-B 72079 1 EA $3,651.74 Gorman Rupp Siewert
Part # 46472-720 or approved equal Equipment
#1-2 Rotating assembly for T3A3S-B 72079 1 EA $3,766.67 Gorman Rupp Siewert
Part # 44163-304 or approved equal Equipment
#1-3 Pipe plug for T3A3S-B 72079 1 EA $1.00 Gorman Rupp Siewert
Part # P04 15079 or approved equal Equipment
#1-4 Discharge flange gasket for T3A3S-B 72079 1 EA $3.89 Gorman Rupp Siewert
Part # 25113-033 or approved equal Equipment
#1-5 Machine bolt for T3A3S-B 72079 1 EA $3.41 Gorman Rupp Siewert
Part # A1014 15991 or approved equal Equipment
#1-6  Discharge flange for T3A3S-B 72079 1 EA $64.42 Gorman Rupp Siewert
Part # 1753A 10010 or approved equal Equipment
#1-7 Lock washer for T3A3S-B 72079 1 EA $0.74 Gorman Rupp Siewert
Part # J10 15991 or approved equal Equipment
#1-8 Hex head cap screw for T3A3S-B 72079 1 EA $1.58 Gorman Rupp Siewert
Part # B1007-15991 or approved equal Equipment
#1-9 Clamp bar screw for T3A3S-B 72079 1 EA $24.62 Gorman Rupp Siewert
Part # 31912-009 15000 or approved equal Equipment
#1-10 |Clamp bar for T3A3S-B 72079 1 EA $53.24 Gorman Rupp Siewert
Part # 38111-004 11010 or approved equal Equipment
#1-11 Fill cover plate assembly for T3A3S-B 72079 1 EA $111.25 Gorman Rupp Siewert
Part #42111-344 or approved equal Equipment
#1-12 |Fill cover gasket for T3A3S-B 72079 1 EA $12.65 Gorman Rupp Siewert
Part # 50G 19210 or approved equal Equipment
#1-13 Lock washer for T3A3S-B 72079 1 EA $0.58 Gorman Rupp Siewert
Part # J08 15991 or approved equal Equipment
#1-14 |Hex head cap screw for T3A3S-B 72079 1 EA $1.63 Gorman Rupp Siewert
Part # B0805-1/2 15991 or approved equal Equipment
#1-15 Rotating assembly adjustment shim 72079 1 EA $1.68 Gorman Rupp Siewert
for T3A3S-B Part #13130-3 17040 Equipment
or approved equal
#1-16 Bearing housing & back cover o-ring 72079 1 EA $4.04 Gorman Rupp Siewert
for T3A3S-B Part #S1748 or approved equal Equipment
#1-17 |Pipe plug for T3A3S-B 72079 1 EA $1.42 Gorman Rupp Siewert
Part #P08 15079 or approved equal Equipment
#1-18 |Stud for T3A3S-B 72079 1 EA $7.82 Gorman Rupp Siewert
Part #C1213 15991 or approved equal Equipment
#1-19 |Casing drain plug for T3A3S-B 72079 1 EA $4.25 Gorman Rupp Siewert
Part #P16 10009 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 2

COUNTY OF ROCKLAND

DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
#1-20 |Wear plate assembly for T3A3S-B 72079 1 EA $193.36 Gorman Rupp Siewert
Part #11407A 15990 or approved equal Equipment
#1-21 |O-ring for T3A3S-B 72079 1 EA $6.35 Gorman Rupp Siewert
Part # 25152-446 or approved equal Equipment
#1-22 |Lock washer for T3A3S-B 72079 1 EA $0.53 Gorman Rupp Siewert
Part # J06 15991 or approved equal Equipment
#1-23 |Hex nut for T3A3S-B 72079 1 EA $0.58 Gorman Rupp Siewert
Part # D06 15991 or approved equal Equipment
#1-24 Back cover plate assembly 72079 1 EA $1,144.50 Gorman Rupp Siewert
for T3A3S-B Part # 42111-801 Equipment
or approved equal
#1-25 Pressure relief valve for T3A3S-B 72079 1 EA $21.84 Gorman Rupp Siewert
Part # 26662-005 or approved equal Equipment
#1-26 | Adjusting screw for T3A3S-B 72079 1 EA $11.24 Gorman Rupp Siewert
Part # 31871-070 1500G or approved equal Equipment
#1-27 |Lock collar for T3A3S-B 72079 1 EA $12.97 Gorman Rupp Siewert
Part # 38115-551 15001 or approved equal Equipment
#1-28 |Back cover nut for T3A3S-B 72079 1 EA $14.18 Gorman Rupp Siewert
Part # 31871-073 15000 Equipment
or approved equal
#1-29 |Hex head cap screw for T3A3S-B 72079 1 EA $1.26 Gorman Rupp Siewert
Part # B0804-1/2 15991 or approved equal Equipment
#1-30 Hex head cap screw for T3A3S-B 72079 1 EA $0.84 Gorman Rupp Siewert
Part # B0604 15991 or approved equal Equipment
#1-31 |Handle for T3A3S-B 72079 1 EA $25.25 Gorman Rupp Siewert
Part # 12354 13010 or approved equal Equipment
#1-32 Hex head cap screw for T3A3S-B 72079 1 EA $1.94 Gorman Rupp Siewert
Part #B1009 15991 or approved equal Equipment
#1-33 Suction flange for T3A3S-B 72079 1 EA $453.23 Gorman Rupp Siewert
Part # 11412 10010 or approved equal Equipment
#1-34 Flap valve assembly for T3A3S-B 72079 1 EA $155.61 Gorman Rupp Siewert
Part # 46411-060 or approved equal Equipment
#1-35 | Check valve pin for T3A3S-B 72079 1 EA $14.02 Gorman Rupp Siewert
Part #11557A 17010 or approved equal Equipment
#1-36 |Suction flange gasket for T3A3S-B 72079 1 EA $6.98 Gorman Rupp Siewert
Part # 11412G 19370 or approved equal Equipment

Section Il - Gorman Rupp T3A3S-B Rotating Assembly Repair Parts List




RFB-RC-2021-111 Pump Parts-Gorman Rupp Pump Parts

Proposal Page 3

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD
POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR

NO. NUMBER | QTY. PRICE

#2-1 Impeller for T3A3S-B Rotating 72079 1 EA $521.54 Gorman Rupp Siewert
Assembly Part #11406 11010 Equipment
or approved equal

#2-2  Cartridge seal assembly for T3A3S-B Rotating Assembly 72079 1 EA $278.41 Gorman Rupp Siewert
Part #46513-150 Equipment
or approved equal

#2-3 | Adjustable shim set for T3A3S-B 72079 1 EA $5.25 Gorman Rupp Siewert
Rotating Assembly Part #37J 17090 Equipment
or approved equal

#2-4  Seal plate for T3A3S-B Rotating 72079 1 EA $348.60 Gorman Rupp Siewert
Assembly Part #11837D 11010 Equipment
or approved equal

#2-5 Gasket for T3A3S-B Rotating 72079 1 EA $2.78 Gorman Rupp Siewert
Assembly Part #10959G 20000 Equipment
or approved equal

#2-6 Oil seal for T3A3S-B Rotating 72079 1 EA $16.91 Gorman Rupp Siewert
Assembly Part #51352 or approved equal Equipment

#2-7 ' Lock washer for T3A3S-B Rotating 72079 1 EA $0.47 Gorman Rupp Siewert
Assembly Part #J08 15991 Equipment
or approved equal

#2-8 Hex head cap screw for T3A3S-B 72079 1 EA $1.16 Gorman Rupp Siewert
Rotating Assembly Part # Equipment
B0805 15991 or approved equal

#2-9 Bearing housing for T3A3S-B Rotating Assembly Part 72079 1 EA $918.80 Gorman Rupp Siewert
#38251-410 10010 or approved equal Equipment

#2-10 'Vented pipe plug For T3A3S-B Rotating Assembly 72079 1 EA $3.36 Gorman Rupp Siewert
Part #4823A 15079 or approved equal Equipment

#2-11 | Air vent For T3A3S-B Rotating 72079 1 EA $6.62 Gorman Rupp Siewert
Assembly Part #S1530 or approved equal Equipment

#2-12 Red pipe bushing For T3A3S-B 72079 1 EA $2.63 Gorman Rupp Siewert
Rotating Assembly Equipment
Part #AP0802 15079 or approved equal

#2-13 Pipe plug For T3A3S-B For 72079 1 EA $1.31 Gorman Rupp Siewert
Rotating Assembly Part #P12 15079 Equipment
or approved equal

#2-14 |Seal & bearing cavity sight gauge For T3A3S-B Rotating 72079 1 EA $31.66 Gorman Rupp Siewert
Assembly Equipment
Part # S1471 or approved equal

#2-15 |Seal & bearing cavity drain plug For T3A3S-B Rotating 72079 1 EA $0.79 Gorman Rupp Siewert
Assembly Part # P04 15079 or approved equal Equipment




RFB-RC-2021-111 Pump Parts-Gorman Rupp Pump Parts

Proposal Page 4

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD
POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
#2-16 | Socket head pipe plug For T3A3S-B Rotating Assembly 72079 1 EA $4.04 Gorman Rupp Siewert
Part # PC20 10009 or approved equal Equipment
#2-17 |Hex head cap screw For T3A3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Rotating Assembly Part #B0605 15991 or approved equal Equipment
#2-18 |Lock washer For T3A3S-B Rotating Assembly Part # J06 | 72079 1 EA $0.42 Gorman Rupp Siewert
15991 or approved equal Equipment
#2-19 Bearing cap For T3A3S-B Rotating Assembly Part # 72079 1 EA $77.54 Gorman Rupp Siewert
38322-219 10010 or approved equal Equipment
#2-20 |Bearing cap gasket For T3A3S-B 72079 1 EA $1.58 Gorman Rupp Siewert
Rotating Assembly Part # 38683-268 18000 Equipment
or approved equal
#2-21 |Lock washer For TBA3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Part #J12 15991 or approved equal Equipment
#2-22 Ball bearing For T3A3S-B Rotating Assembly Part # 72079 1 EA $28.77 Gorman Rupp Siewert
S1749 or approved equal Equipment
#2-23 |Key For T3A3S-B Rotating Assembly 72079 1 EA $1.63 Gorman Rupp Siewert
Part #N0608 15990 or approved equal Equipment
#2-24 Impeller shaft For T3A3S-B Rotating Assembly Part 72079 1 EA $347.45 Gorman Rupp Siewert
#38514-563 16040 or approved equal Equipment
#2-25 Ball bearing For T3A3S-B Rotating Assembly Part 72079 1 EA $32.34 Gorman Rupp Siewert
#23252-013 or approved equal Equipment
#2-26 Flat head socket screw For T3A3S-B Rotating Assembly 72079 1 EA $5.20 Gorman Rupp Siewert
Part #F1004S 1500G or approved equal Equipment
#2-27 | Impeller washer For T3A3S-B Rotating Assembly 72079 1 EA $51.08 Gorman Rupp Siewert
Part #31167-029 16000 or approved equal Equipment
#2-28 |O-ring For T3A3S-B Rotating Assembly Part #25154- 72079 1 EA $1.58 Gorman Rupp Siewert
022 or approved equal Equipment
#2-29 O-ring For T3A3S-B Rotating Assembly Part #51748 or 72079 1 EA $3.41 Gorman Rupp Siewert
approved equal Equipment
#2-30 |Adjustable shims For T3A3S-B Rotating Assembly 72079 1 EA $1.42 Gorman Rupp Siewert
Part #13130-3 17040 or approved equal Equipment
#2-31 |Shipping plug For T3A3S-B Rotating Assembly Part 72079 1 EA $2.31 Gorman Rupp Siewert
#11495B 15079 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 5

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
Section 111 - Gorman Rupp T6A3S-B Pump Parts List
#3-1 'Pump casing For T6A3S-B 72079 1 EA $6,594.74 Gorman Rupp Siewert
Part #46472-722 or approved equal Equipment
#3-2 Rotating assembly For T6A3S-B 72079 1 EA $4,363.22 Gorman Rupp Siewert
Part #44163-263 or approved equal Equipment
#3-3 Stud For TEA3S-B 72079 1 EA $6.67 Gorman Rupp Siewert
Part #C1213 15991 or approved equal Equipment
#3-4 | Casing drain plug For TEA3S-B 72079 1 EA $4.52 Gorman Rupp Siewert
Part #P20 10009 or approved equal Equipment
#3-5 'Wear plate For T6A3S-B 72079 1 EA $197.32 Gorman Rupp Siewert
Part #46451-723 24150 or approved equal Equipment
#3-6 O-ring For T6A3S-B 72079 1 EA $15.80 Gorman Rupp Siewert
Part #25152-453 or approved equal Equipment
#3-7 Lock washer For T6A3S-B 72079 1 EA $0.42 Gorman Rupp Siewert
Part #J06 15991 or approved equal Equipment
#3-8 Hex nut For T6A3S-B 72079 1 EA $0.47 Gorman Rupp Siewert
Part #D06 15991 or approved equal Equipment
#3-9 | O-ring For T6A3S-B 72079 1 EA $8.93 Gorman Rupp Siewert
Part #51676 or approved equal Equipment
#3-10 Back cover plate assembly For T6A3S-B Part #42111- 72079 1 EA $1,203.98 Gorman Rupp Siewert
803 or approved equal Equipment
#3-11 | Adjusting screw For T6A3S-B 72079 1 EA $9.61 Gorman Rupp Siewert
Part #31871-070 1500G or approved equal Equipment
#3-12 |Lock collar For T6A3S-B 72079 1 EA $11.18 Gorman Rupp Siewert
Part #38115-551 15001 or approved equal Equipment
#3-13 |Back cover nut For TEA3S-B 72079 1 EA $12.18 Gorman Rupp Siewert
Part #31871-073 15000 or approved equal Equipment
#3-14 ' Lock washer For T6A3S-B 72079 1 EA $0.47 Gorman Rupp Siewert
Part #J08 15991 or approved equal Equipment
#3-15 'Hex head cap screw For T6A3S-B 72079 1 EA $1.05 Gorman Rupp Siewert
Part #B0804-1/2 15991 or approved Equipment
equal
#3-16 |Hex head cap screw For T6A3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Part #B0604 15991 or approved equal Equipment
#3-17 |Cover plate handle For TEA3S-B 72079 1 EA $21.74 Gorman Rupp Siewert
Part #12354-13010 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 6

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
#3-18 'Hex head cap screw For T6A3S-B 72079 1 EA $6,594.74 Gorman Rupp Siewert
Part #81211 15991 or approved equal Equipment
#3-19 Lock washer For T6A3S-B 72079 1 EA $4,363.22 Gorman Rupp Siewert
Part #J12 15991 16 or approved equal Equipment
#3-20 |Pipe plug For T6A3S-B 72079 1 EA $6.67 Gorman Rupp Siewert
Part #P04 15079 or approved equal Equipment
#3-21 |Suction flange For TBA3S-B 72079 1 EA $4.52 Gorman Rupp Siewert
Part #11402 10010 or approved equal Equipment
#3-22 | Check valve pin For T6A3S-B 72079 1 EA $197.32 Gorman Rupp Siewert
Part #11645 17010 or approved equal Equipment
#3-23 |Flap valve assembly For TEA3S-B 72079 1 EA $15.80 Gorman Rupp Siewert
Part #46411-064 or approved equal Equipment
#3-24 |Gasket For T6A3S-B 72079 1 EA $0.42 Gorman Rupp Siewert
Part #11402G 19370 or approved equal Equipment
#3-25 |Gasket For T6A3S-B 72079 1 EA $0.47 Gorman Rupp Siewert
Part #25113-036 or approved equal Equipment
#3-26 'Machine bolt For TEA3S-B 72079 1 EA $8.93 Gorman Rupp Siewert
Part #A1014 15991 or approved equal Equipment
#3-27 Discharge flange For T6A3S-B 72079 1 EA $1,203.98 Gorman Rupp Siewert
Part #1758 10010 or approved equal Equipment
#3-28 Hex head cap screw For T6A3S-B 72079 1 EA $9.61 Gorman Rupp Siewert
Part #B1208 15991 or approved equal Equipment
#3-29 |Clamp bar screw For T6A3S-B 72079 1 EA $11.18 Gorman Rupp Siewert
Part #31912-009 15000 or approved equal Equipment
#3-30 |Clamp bar For TEA3S-B 72079 1 EA $12.18 Gorman Rupp Siewert
Part #38111-004 11010 or approved equal Equipment
#3-31 Fill cover plate assembly For 72079 1 EA $0.47 Gorman Rupp Siewert
T6A3S-B Part #42111-344 or approved equal Equipment
#3-32 |Fill cover gasket For T6A3S-B 72079 1 EA $1.05 Gorman Rupp Siewert
Part #50G 19210 or approved equal Equipment
#3-33 |Hex head cap screw For T6A3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Part #B0806 15991 or approved equal Equipment
#3-34 |Rotating assembly adjustment shim For T6A3S-B Part 72079 1 EA $21.74 Gorman Rupp Siewert
#13131-3 17040 or approved equal Equipment
#3-35 Pipe plug For T6A3S-B 72079 1 EA $1.16 Gorman Rupp Siewert
Part #P08 15079 or approved equal Equipment
#3-36 |Name plate For T6A3S-B 72079 1 EA $2.00 Gorman Rupp Siewert
Part #38818-040 13990 or approved equal Equipment
#3-37 |Drive screw For T6A3S-B 72079 1 EA $0.42 Gorman Rupp Siewert
Part #BM#04-03 17000 or approved equal Equipment




RFB-RC-2021-111 Pump Parts-Gorman Rupp Pump Parts

Proposal Page 7

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD
POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
Section 1V - Gorman Rupp T6A3S-B Rotating Assembly Repair Parts List

#4-1 Impeller For T6A3S-B Rotating 72079 1 EA $681.87 Gorman Rupp Siewert
Assembly Part # 38615-087 11010 Equipment
or approved equal

#4-2 Cartridge seal assembly For T6A3S-B Rotating Assembly | 72079 1 EA $439.69 Gorman Rupp Siewert
Part #46513-153 Equipment
or approved equal

#4-3 Impeller adjustment shim set For 72079 1 EA $17.33 Gorman Rupp Siewert
T6A3S-B Rotating Assembly Equipment
Part #5091 17090 or approved equal

#4-4  Shaft sleeve o-ring For TEA3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Rotating Assembly Part #25154-026 Equipment
or approved equal

#4-5 Seal plate For T6A3S-B Rotating Assembly Part #38272- | 72079 1 EA $495.18 Gorman Rupp Siewert
254 10010 or approved equal Equipment

#4-6 Seal plate gasket For T6A3S-B Rotating Assembly Part 72079 1 EA $2.78 Gorman Rupp Siewert
#10959G 20000 or approved equal Equipment

#4-7 Oil seal For T6A3S-B Rotating 72079 1 EA $25.88 Gorman Rupp Siewert
Assembly Part #S1917 or approved equal Equipment

#4-8 Lock washer For T6A3S-B Rotating 72079 1 EA $0.47 Gorman Rupp Siewert
Assembly Part #J08 15991 Equipment
or approved equal

#4-9 Hex head cap screw For T6A3S-B 72079 1 EA $1.37 Gorman Rupp Siewert
Rotating Assembly Equipment
Part #B0805-1/2 15991 or approved equal

#4-10 ' Bearing housing For T6A3S-B 72079 1 EA $972.35 Gorman Rupp Siewert
Rotating Assembly Equipment
Part #38251-514 10000 or approved equal

#4-11 'Vented pipe plug For T6A3S-B 72079 1 EA $3.36 Gorman Rupp Siewert
Rotating Assembly Equipment
Part #4823A 15079 or approved equal

#4-12 |Reducer pipe bushing For TEA3S-B 72079 1 EA $2.63 Gorman Rupp Siewert
Rotating Assembly Part #AP0802 15079 or approved Equipment
equal

#4-13 Air vent For TBA3S-B Rotating Assembly Part #51530 or| 72079 1 EA $6.62 Gorman Rupp Siewert
approved equal Equipment

#4-14 Pipe plug For T6A3S-B Rotating Assembly Part #P12 72079 1 EA $1.31 Gorman Rupp Siewert
15079 or approved equal Equipment

#4-15 |Seal & bearing cavity sight gauge For T6A3S-B Rotating 72079 1 EA $31.66 Gorman Rupp Siewert
Assembly Part #51471 or approved equal Equipment

#4-16 |Seal & bearing cavity drain plug For T6A3S-B Rotating 72079 1 EA $0.79 Gorman Rupp Siewert
Assembly Part #P04 15079 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 8

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD
POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR

NO. NUMBER | QTY. PRICE

#4-17 |Hex head cap screw For T6A3S-B Rotating Assembly 72079 1 EA $0.68 Gorman Rupp Siewert
Part #B0605 15991 or approved equal Equipment

#4-18 |Lock washer For T6A3S-B 72079 1 EA $0.42 Gorman Rupp Siewert
Rotating Assembly Part #J06 15991 Equipment
or approved equal

#4-19 |Bearing cap For T6A3S-B Rotating Assembly Part 72079 1 EA $90.14 Gorman Rupp Siewert
#38322-430 10010 or approved equal Equipment

#4-20 Bearing cap gasket For T6A3S-B 72079 1 EA $4.31 Gorman Rupp Siewert
Rotating Assembly Part #38683-473 18000 or approved Equipment
equal

#4-21 |Snap ring For T6A3S-B Rotating Assembly Part #24124- 72079 1 EA $4.99 Gorman Rupp Siewert
425 or approved equal Equipment

#4-22 |Ball bearing For T6A3S-B 72079 1 EA $189.53 Gorman Rupp Siewert
Rotating Assembly Part #S1030 or approved equal Equipment

#4-23 |Shaft key For T6A3S-B 72079 1 EA $1.73 Gorman Rupp Siewert
Rotating Assembly Part #N00612 15990 or approved Equipment
equal

#4-24 Impeller shaft For T6A3S-B Rotating Assembly Part 72079 1 EA $799.31 Gorman Rupp Siewert
#38514-818 16040 or approved equal Equipment

#4-25 Ball bearing For TBA3S-B Rotating Assembly Part #5616 72079 1 EA $86.05 Gorman Rupp Siewert
or approved equal Equipment

#4-26 | Impeller screw For T6A3S-B Rotating Assembly Part 72079 1 EA $2.57 Gorman Rupp Siewert
#DM1004S 15991 or approved equal Equipment

#4-27 ' Impeller washer For T6A3S-B 72079 1 EA $9.87 Gorman Rupp Siewert
Rotating Assembly Part #10278 15030 Equipment
or approved equal

#4-28 | Drive screw For T6A3S-B Rotating Assembly Part 72079 1 EA $0.42 Gorman Rupp Siewert
#BM#04-03 17000 Equipment
or approved equal

#4-29 'S/N plate For T6A3S-B Rotating Assembly Part 72079 1 EA $2.00 Gorman Rupp Siewert
#2613GG 13990 Equipment
or approved equal

#4-30 Bearing housing o-ring For T6A3S-B 72079 1 EA $8.93 Gorman Rupp Siewert
Rotating Assembly Part #S1676 Equipment
or approved equal

#4-31 |Shipping plug For T6A3S-B 72079 1 EA $2.31 Gorman Rupp Siewert
Rotating Assembly Part #11495B 15079 or approved Equipment
equal




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 9

COUNTY OF ROCKLAND

DGS — PURCHASING DEPARTMENT

BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
#4-32 |Rotating assembly adjustment shims 72079 1 EA $1.31 Gorman Rupp Siewert
For T6A3S-B Rotating Assembly Equipment
Part #13131-3 17040 or approved equal
Section V - Gorman Rupp T8A3S-B Pump Parts List
#5-1 Pump casing For T8A3S-B 72079 1 EA $9,657.17 Gorman Rupp Siewert
Part #46472-714 or approved equal Equipment
#5-2 |Rotating assembly For T8A3S-B 72079 1 EA $5,294.78 Gorman Rupp Siewert
Part #44163-291 or approved equal Equipment
#5-3 Stud For T8A3S-B Part #C1214 159910r approved equal | 72079 1 EA $8.40 Gorman Rupp Siewert
Equipment
#5-4 | Casing drain plug For TBA3S-B 72079 1 EA $11.76 Gorman Rupp Siewert
Part #P32 10009 or approved equal Equipment
#5-5 Stud For T8A3S-B 72079 1 EA $2.94 Gorman Rupp Siewert
Part #C0808 15991 or approved equal Equipment
#5-6 'Wear plate For TBA3S-B 72079 1 EA $260.87 Gorman Rupp Siewert
Part #12348A 10010 or approved equal Equipment
#5-7 O-ring For TBA3S-B 72079 1 EA $11.39 Gorman Rupp Siewert
Part #25152-384 or approved equal Equipment
#5-8 Lock washer For TBA3S-B 72079 1 EA $0.47 Gorman Rupp Siewert
Part #J08 15991 or approved equal Equipment
#5-9 'Hex nut For TSA3S-B 72079 1 EA $0.53 Gorman Rupp Siewert
Part #D08 15991 or approved equal Equipment
#5-10 |O-ring For T8A3S-B 72079 1 EA $7.71 Gorman Rupp Siewert
Part #51915 or approved equal Equipment
#5-11 Back cover plate assembly For 72079 1 EA $1,820.76 Gorman Rupp Siewert
T8A3S-B Part #48275-808 or approved equal Equipment
#5-12 Pressure relief valve For TBA3S-B 72079 1 EA $18.80 Gorman Rupp Siewert
Part #26662-005 or approved equal Equipment
#5-13 |Lock collar For T8A3S-B 72079 1 EA $11.18 Gorman Rupp Siewert
Part #38115-551 15001 or approved equal Equipment
#5-14 hex head cap screw For TBA3S-B 72079 1 EA $1.05 Gorman Rupp Siewert
Part #B0804-1/2 15991 or approved equal Equipment
#5-15 |Back cover nut For T8A3S-B 72079 1 EA $12.18 Gorman Rupp Siewert
Part #31871-073 15000 or approved equal Equipment
#5-16 |Adjusting screw For T8A3S-B 72079 1 EA $9.61 Gorman Rupp Siewert
Part #31871-070 1500G or approved equal Equipment
#5-17 |Hex head cap screw For T8BA3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Part #B0604 15991 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 10

COUNTY OF ROCKLAND

DGS — PURCHASING DEPARTMENT

BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
#5-18 |Lock washer For T8A3S-B 72079 1 EA $0.42 Gorman Rupp Siewert
Part #J06 15991 or approved equal Equipment
#5-19 Handle For TBA3S-B 72079 1 EA $21.74 Gorman Rupp Siewert
Part #12354 13010 or approved equal Equipment
#5-20 |Hex head cap screw For TBA3S-B 72079 1 EA $2.42 Gorman Rupp Siewert
Part #B1209 15991 or approved equal Equipment
#5-21 Lock washer For TBA3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Part #J12 15991 or approved equal Equipment
#5-22 |Suction flange For TBA3S-B 72079 1 EA $1,196.37 Gorman Rupp Siewert
Part #12356 10010 or approved equal Equipment
#5-23 |Pipe plug For TBA3S-B 72079 1 EA $4.52 Gorman Rupp Siewert
Part #P20 10009 or approved equal Equipment
#5-24 |Check valve pin For TBA3S-B 72079 1 EA $24.89 Gorman Rupp Siewert
Part #12357 17010 or approved equal Equipment
#5-25 |Pipe plug For TBA3S-B 72079 1 EA $0.79 Gorman Rupp Siewert
Part #P04 15079 or approved equal Equipment
#5-26 Gasket For TBA3S-B 72079 1 EA $25.46 Gorman Rupp Siewert
Part #12356G 19370 or approved equal Equipment
#5-27 |Flap valve assembly For T8A3S-B 72079 1 EA $258.35 Gorman Rupp Siewert
Part #46411-066 or approved equal Equipment
#5-28 Gasket For TBA3S-B 72079 1 EA $13.23 Gorman Rupp Siewert
Part #25113-038 or approved equal Equipment
#5-29 Discharge flange For TBA3S-B 72079 1 EA $143.01 Gorman Rupp Siewert
Part #1759 10010 or approved equal Equipment
#5-30 ' Clamp bar screw For TBA3S-B 72079 1 EA $21.16 Gorman Rupp Siewert
Part #31912-009 15000 or approved equal Equipment
#5-31 |Clamp bar For TBA3S-B 72079 1 EA $45.83 Gorman Rupp Siewert
Part #38111-004 11010 or approved equal Equipment
#5-32 Fill cover plate assembly For 72079 1 EA $95.87 Gorman Rupp Siewert
T8A3S-B Part #42111-344 or approved equal Equipment
#5-33 |Fill cover gasket For T8A3S-B 72079 1 EA $10.87 Gorman Rupp Siewert
Part #50G 19210 or approved equal Equipment
#5-34 |Machine bolt For TBA3S-B 72079 1 EA $2.94 Gorman Rupp Siewert
Part #1010 15991 or approved equal Equipment
#5-35 |Pipe plug For T8A3S-B 72079 1 EA $1.16 Gorman Rupp Siewert
Part #P08 15079 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 11

COUNTY OF ROCKLAND

DGS — PURCHASING DEPARTMENT

BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR

NO. NUMBER | QTY. PRICE

#5-36 |Adjusting shim For T8A3S-B 72079 1 EA $2.36 Gorman Rupp Siewert
Part #33221-018 17040 Equipment
or approved equal

#5-37 |Hex head cap screw For T8A3S-B 72079 1 EA $0.89 Gorman Rupp Siewert
Part #B0806 15991 or approved equal Equipment

#5-38 |Hex head cap screw For T8A3S-B 72079 1 EA $1.16 Gorman Rupp Siewert
Part #B0805 15991 or approved equal Equipment

#5-39 |Casing ring For TBA3S-B 72079 1 EA $522.11 Gorman Rupp Siewert
Part #31281-016 15990 or approved equal Equipment

#5-40 |O-ring For TBA3S-B Part #51914 72079 1 EA $6.62 Gorman Rupp Siewert
or approved equal Equipment

#5-41 |Drive screw For TBA3S-B 72079 1 EA $0.42 Gorman Rupp Siewert
Part #BM#04-03 17000 or approved equal Equipment

#5-42 'Name plate For T8A3S-B 72079 1 EA $2.00 Gorman Rupp Siewert
Part #38818-040 13990 or approved equal Equipment

Section VI - Gorman Rupp T8A3S-B Rotating Assembly Repair Parts List

#6-1 |Impeller For TBA3S-B Rotating 72079 1 EA $1,025.22 Gorman Rupp Siewert
Assembly Part #12349 11000 Equipment
or approved equal

#6-2 | Cartridge seal assembly For TBA3S-B Rotating Assembly| 72079 1 EA $439.00 Gorman Rupp Siewert
Part #46513-153 Equipment
or approved equal

#6-3 | Adjustment shim set For T8A3S-B Rotating Assembly 72079 1 EA $17.33 Gorman Rupp Siewert
Part #5091 17090 Equipment
or approved equal

#6-4 O-ring For T8A3S-B Rotating 72079 1 EA $0.68 Gorman Rupp Siewert
Assembly Part #25154-026 Equipment
or approved equal

#6-5 Seal plate For T8A3S-B Rotating 72079 1 EA $754.58 Gorman Rupp Siewert
Assembly Part #12350 10010 Equipment
or approved equal

#6-6 Seal plate gasket For TBA3S-B Rotating Assembly Part 72079 1 EA $5.04 Gorman Rupp Siewert
#12350G 20000 or approved equal Equipment

#6-7 |Oil seal For T8A3S-B Rotating 72079 1 EA $25.88 Gorman Rupp Siewert
Assembly Part # S1917 or approved equal Equipment

#6-8 Pipe plug For TBA3S-B Rotating 72079 1 EA $0.79 Gorman Rupp Siewert
Assembly Part #P04 15079 or approved equal Equipment

#6-9 | Bearing housing For TBA3S-B Rotating Assembly Part 72079 1 EA $1,861.65 Gorman Rupp Siewert
#38251-412 10000 or approved equal Equipment

#6-10 |Vented pipe plug For TBA3S-B Rotating Assembly Part 72079 1 EA $3.36 Gorman Rupp Siewert
#4823A 15079 or approved equal Equipment




RFB-RC-2021-111

Pump Parts-Gorman Rupp Pump Parts

Proposal Page 12

COUNTY OF ROCKLAND

DGS — PURCHASING DEPARTMENT

BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD

POMONA, NY 10970

TELEPHONE NO.: 845-364-3820

FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE

#6-11 |Air vent For TBA3S-B Rotating 72079 1 EA $6.61 Gorman Rupp Siewert
Assembly Part #51530 or approved equal Equipment

#6-12 |Reducer pipe bushing For T8A3S-B Rotating Assembly 72079 1 EA $2.63 Gorman Rupp Siewert
Part #AP0802 15079 or approved equal Equipment

#6-13 |Pipe plug For T8A3S-B Rotating 72079 1 EA $1.31 Gorman Rupp Siewert
Assembly Part #P12 15079 or approved equal Equipment

#6-14 |Seal & bearing cavity sight gauge For TBA3S-B Rotating 72079 1 EA $31.66 Gorman Rupp Siewert
Assembly Equipment
Part #S1471 or approved equal

#6-15 'Hex head cap screw For T8A3S-B 72079 1 EA $1.16 Gorman Rupp Siewert
Rotating Assembly Equipment
Part #B1006 15991 or approved equal

#6-16 |Lock washer For TBA3S-B 72079 1 EA $0.58 Gorman Rupp Siewert
Rotating Assembly Part #J10 15991 Equipment
or approved equal

#6-17 |Hex head cap screw For T8A3S-B 72079 1 EA $0.84 Gorman Rupp Siewert
Rotating Assembly Equipment
Part #B0605-1/2 15991 or approved equal

#6-18 ' Lock washer For T8A3S-B Rotating Assembly Part #J06 72079 1 EA $0.42 Gorman Rupp Siewert
15991 or approved equal Equipment

#6-19 Bearing cap For T8A3S-B Rotating Assembly Part 72079 1 EA $128.73 Gorman Rupp Siewert
#38322-415 10010 or approved equal Equipment

#6-20 O-ring For TBA3S-B Rotating Assembly Part #S333 or 72079 1 EA $2.31 Gorman Rupp Siewert
approved equal Equipment

#6-21 Lock washer For TBA3S-B 72079 1 EA $0.68 Gorman Rupp Siewert
Part #J12 15991 or approved equal Equipment

#6-22 Ball bearing For T8A3S-B Rotating Assembly Part 72079 1 EA $262.66 Gorman Rupp Siewert
#23422-412 1 or approved equal Equipment

#6-23 Key For TBA3S-B Rotating Assembly Part #N0616 72079 1 EA $2.15 Gorman Rupp Siewert
15990 or approved equal Equipment

#6-24 Impeller shaft For TBA3S-B Rotating Assembly Part 72079 1 EA $854.18 Gorman Rupp Siewert
#38515-587 16000 or approved equal Equipment

#6-25 Ball bearing For T8A3S-B Rotating Assembly Part 72079 1 EA $211.42 Gorman Rupp Siewert
#23421-461 or approved equal Equipment

#6-26 'Socket head cap screw For T8A3S-B Rotating Assembly 72079 1 EA $2.57 Gorman Rupp Siewert
Part #DM1004S 15991 or approved Equipment
equal

#6-27 |Impeller washer For TBA3S-B Rotating Assembly Part 72079 1 EA $9.87 Gorman Rupp Siewert
#10278 15030 or approved equal Equipment

#6-28 |O-ring For T8A3S-B Rotating 72079 1 EA $6.62 Gorman Rupp Siewert

Assembly Part #51914 or approved equal

Equipment




RFB-RC-2021-111 Pump Parts-Gorman Rupp Pump Parts

Proposal Page 13

COUNTY OF ROCKLAND
DGS - PURCHASING DEPARTMENT
BLDG. A, 2ND FLOOR, 50 SANATORIUM ROAD
POMONA, NY 10970
TELEPHONE NO.: 845-364-3820
FAX NO.: 845-364-3809

VENDOR: Siewert Equipment

LINE DESCRIPTION ITEM EST. UNIT UNIT MFG. VENDOR
NO. NUMBER | QTY. PRICE
#6-29 |Shipping plug For T8A3S-B Rotating Assembly Part 72079 1 EA $2.31 Gorman Rupp Siewert
#11495B 15079 or approved equal Equipment
#6-30 |Rotating assembly adjustment shims 72079 1 EA $2.36 Gorman Rupp Siewert
For TBA3S-B Rotating Assembly Equipment
Part #33221-018 17040 or approved equal
Section VIl - MISCELLANEOUS
#7-1 |% Discount off parts not specifically identified. % 72079 Est. % Gorman Rupp Siewert
Discount offered shall include F.O.B. Destination, ED""aJSd discount 10% Equipment
freight prepaid and added. If no discount offered ;’;egog Discount
Bidder shall enter 0%. Bidder shall enter % offered '
as a whole number e.g. 10% = 0.10




PAGE: 8
COUNTY OF ROCKLAND - DGS-PURCHASING
BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970
TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: PUMP PARTS - GORMAN RUPP PUMPS RFB #: RFB-RC-2021-111

PURCHASES BY OTHER

LOCAL GOVERNMENTS, SCHOOL DISTRICTS, AND NON PROFIT AGENCIES

As per the New York State General Municipal Law, all political subdivisions of New York State are allowed to
make purchases through the resulting contract(s). As per Rockland County Procurement Policy, Non Profit
Agencies approved to participate in New York State’s Contract Extension Program are authorized to make
purchases through the resulting contract(s).

1. The County of Rockland shall make all contract award information available to other political subdivisions
and non profit agencies through our website: www.rcpurchasing.com

2. Any other political subdivision or Rockland County non profit agency will issue purchase orders directly to
vendors within the specified contract period referencing the County’s contract and shall be liable for any
payments due on such purchase orders; and shall accept sole responsibility for any payment due.

3. All purchases shall be subject to audit and inspection by the other political subdivisions and Rockland County
non profit agencies for which the purchase was made.

4. No officer, board or agency of a county, town, village, or school district shall make any purchase through the
County when bids have been received for such purchase by such officer, board or agency, unless such
purchase may be made upon the same terms, conditions and specifications at a lower price through the County.

5. All Bidders shall be on notice that as a condition of the award of a County contract, the successful bidder shall
accept the award of a similar contract with any other political subdivision in New York State and Rockland
County non profit agencies authorized to use New York State’s contracts, if called upon to do so. A listing
of approved Rockland County non profit agencies is available on the Purchasing Division’s website at
www.rcpurchasing.com. The County, however, will not be responsible for any debts incurred by the
participants pursuant to this or any other agreement.

6. Necessary deviations from the County’s specifications in the award of a participant contract, whether such
deviations relate to quantities, or delivery points shall be resolved between the successful bidder and the
other political subdivisions and Rockland County non profit agencies.

Any alterations to this document made by the Offeror may be grounds for rejection of the proposal, cancellation of any subsequent award, or any legal remedies
available to the County of Rockland.



PAGE: 9
COUNTY OF ROCKLAND - DGS-PURCHASING
BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970
TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: PUMP PARTS - GORMAN RUPP PUMPS RFB #: RFB-RC-2021-111

SPECIFICATIONS

1. SCOPE

1.1.

This bid is to provide pricing for replacement parts for various Gorman Rupp Horizontal Self Priming
Pumps as required by the County of Rockland Sewer District #1 (RCSD#1) and any other authorized
Rockland County Agency. Parts will be ordered on an as needed basis. This bid does not cover the
purchase of new pumps.

2. REQUIREMENTS

2.1.

2.2.

2.3.

2.4.

Bidder must supply pricing on Gorman Rupp OEM ONLY parts or approved equal and to be supplied by
an authorized Gorman Rupp Engineered Systems Distributor or equivalent. Proof of Distributorship must
be included in the bid submission.

The pump & parts manufacturer must be 1SO 9001:2015 revision certified, with scope of registration
including design control and service after sales activities. Proof of Certification to be submitted with the
bid proposal.

The pump & parts manufacturer must be registered to the 1ISO 14001 Environmental Management System
standard and as such is committed to minimizing the impact of its activities on the environment and
promoting environmental sustainability by the use of best management practices, technological advances,
promoting environmental awareness and continual improvement. Proof of Certification must be
submitted with the bid proposal.

WARRANTY

2.4.1. The pump manufacturer must warrant the pump equipment to be of quality construction, free of

defects in material and workmanship. A written warranty must include specific details described
below.

2.4.2.  All equipment, apparatus, and parts furnished must be warranted for sixty (60) months, excepting

only those items that are normally consumed in service, such as oils, grease, packing, gaskets,
O-rings, etc. The pump manufacturer must be solely responsible for warranty of the pump equipment
and all components.

2.4.3.  Components failing to perform as specified by the engineer, or as represented by the manufacturer,

or as proven defective in service during the warranty period, must be replaced, repaired, or
satisfactorily modified by the manufacturer.

2.4.4. It is not intended that the pump manufacturer assume liability for consequential damages or

contingent liabilities arising from failure of any vendor supplied product or part which fails to
properly operate, however caused. Consequential damages resulting from defects in design, or delays
in delivery are also beyond the manufacturer's scope of liability.

2.4.5.  This limited warranty must be valid only when installation is made, and use and maintenance is

performed in accordance with manufacturer recommendations. The warranty must become effective
on the date of acceptance by the purchaser or the purchaser's authorized agent, or sixty (60) days
after installation, or ninety (90) days after shipment from the factory, whichever occurs first.

Any alterations to this document made by the Offeror may be grounds for rejection of the proposal, cancellation of any subsequent award, or any legal remedies
available to the County of Rockland.




PAGE: 10
COUNTY OF ROCKLAND - DGS-PURCHASING
BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970
TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: PUMP PARTS - GORMAN RUPP PUMPS RFB #: RFB-RC-2021-111

2.5.

2.6.

2.7.

2.8.

2.9.

Rockland County Sewer District #1 reserves the right to add or eliminate any model of Gorman Rupp
pumps during the term of this contract, however, the following is a list of the current models operated at
RCSD#1 locations.

CURRENT INVENTORY OF GORMAN RUPP PUMPS

GORMAN-RUPP SN: 1464198/199/200 Model IT3A3S-BF  Horse Power - 7.5
GORMAN-RUPP SN: 1458378/79/80 Model T6A3S-BF Horse Power - 25
GORMAN-RUPP SN: 1459027/8/9 Model T8A3S-BF Horse Power - 40

The County of Rockland reserves the right to bid or obtain additional pricing should such procedures
result in the benefit of the County of Rockland.

Bidder must be an authorized dealer of Gorman Rupp pumps and parts. Documentation to be submitted
with bid.

Items must be manufactured by Gorman Rupp or approved equal.

3. APPROVED EQUAL OR EQUIVALENT PRODUCTS

3.1. Bidders must submit an item by item listing and explanation of any differences between their product
specifications and performance and the listed bid specifications. Product and service warranties must be
included with bid.

3.2.  If bidders submit or bid for equivalent or approved equal products, they must submit manufacturer’s
product description and specifications. These specifications must include all items listed in the bid
specifications.

3.3. Bidders must list five entities currently using the product on the certification of experience page in the
bid package. The items must be used on listed pumps. Items requiring adapters will not be acceptable.

3.4. Bidder must be able to demonstrate within one week after notice and guarantee in writing that the item
bid is interconnectable with existing equipment.

4. PRICE

4.1. Bidder must submit unit pricing for itemized parts for each pump described in this solicitation. Pricing

must be submitted on the proposal pages provided.

4.1.1.  Unit Pricing must include FOB Destination Prepaid and Allowed, Orangeburg, NY 10962.

4.2.

4.3.

44.

Additionally, bidder must provide a percentage discount based on the official manufacturer’s published
retail price list. This discount will be applied to any items ordered not specifically identified on the
proposal pages. If bidder is offering 0% discount, this must be entered on the proposal pages.

Price list must be the current manufacturer’s retail price list at the time of bidding and as up-dated by the
manufacturer during the life of the contract. Vendor must submit number and date of catalogs used.

Contractor must provide the County of Rockland with two copies of the manufacturer’s current catalog
and price list with the bid and updates as they become available.

Any alterations to this document made by the Offeror may be grounds for rejection of the proposal, cancellation of any subsequent award, or any legal remedies
available to the County of Rockland.




PAGE: 11
COUNTY OF ROCKLAND - DGS-PURCHASING
BLDG. A., 6TH FLOOR, 50 SANATORIUM RD, POMONA, NY 10970
TELEPHONE: 845-364-3820 / TELEFAX: 845-364-3809

TITLE: PUMP PARTS - GORMAN RUPP PUMPS RFB #: RFB-RC-2021-111

5. PRICING ADJUSTMENTS

5.1.  Pricing shall remain firm through the first 12 -month contract period with no adjustments allowed. If
the County exercises any of the options of the contract, contractors may submit a request for adjustment
on the 12- month anniversary date of the contract. Any request for price adjustment(s) shall be
submitted thirty (30) days in advance in writing to the Director of Purchasing. Any and all price
adjustments will be limited to the percentage increase in the CPI Index — All Urban Consumers for the
preceding 12 months. The County reserves the right to reject any request for price increase deemed
excessive,

5.2.  The County of Rockland will make the final determination on whether a price adjustment is granted.

6. DELIVERY

6.1. For items in stock at the vendor’s place of business, delivery must be made immediately after receipt of
order by the vendor.

6.2. For items not in stock, the vendor must make delivery immediately after his receipt of the parts from the
manufacturer.

6.3.  All deliveries must be made during the hours of 8:00AM to 2:00PM to the location specified on the
Purchase Order.

7. AWARD

7.1.  This bid must be awarded in its entirety to the lowest responsive, responsible bidder meeting the stated
requirements.

7.1.1. The County reserves the right to award this contract on a line by line basis to the lowest responsive
responsible bidder(s) meeting the stated requirements.

Any alterations to this document made by the Offeror may be grounds for rejection of the proposal, cancellation of any subsequent award, or any legal remedies
available to the County of Rockland.



	Purchasing Division
	Description
	RFB-RC-2021-111 Specs.pdf
	Email:  _____________________________________
	NONRESTRICTIVE USE OF BRAND NAME OR EQUAL SPECIFICATIONS
	AMERICANS WITH DISABILITIES
	RFB-RC-2021-111 CERTIFICATE OF EXPERIENCE.pdf
	NAME OF BIDDER:  _____________________________________________ BY:  ___________________________________________________

	RFB-RC-2021-111 STATEMENT OF DISCLOSURES.pdf
	Section E.      BUSINESS DEALINGS IN NORTHERN IRELAND -MACBRIDE
	PRINCIPLES
	Section F.   CERTIFICATION OF COMPLIANCE WITH THE
	IRAN DIVESTMENT ACT
	1.  ( The subscriber below, authorized on behalf of the Reporting Entity in the title/position indicated hereinabove, certifies that he/she is neither the Bidder/Contractor nor any proposed subcontractor as identified on the Prohibited Entities List.
	1.  ( The subscriber below, authorized on behalf of the Reporting Entity in the title/position indicated hereinabove, certifies that he/she is neither the Bidder/Contractor nor any proposed subcontractor as identified on the Prohibited Entities List.
	Section G.  CERTIFICATION REGARDING BOYCOTT, DIVEST
	AND SANCTIONS (BDS) ACTIVITIES




	TITLE: 
	BY: 
	NAME OF BIDDER: 
	FAX NO4: 
	EMAIL ADDRESS4: 
	TYPE OF WORK4: 
	TELEPHONE NO4: 
	AMOUNT OF CONTRACT4: 
	ADDRESS4: 
	CONTACT NAME4: 
	NAME OF BUSINESS4: 
	FAX NO3: 
	EMAIL ADDRESS3: 
	TYPE OF WORK3: 
	TELEPHONE NO3: 
	AMOUNT OF CONTRACT3: 
	ADDRESS3: 
	CONTACT NAME3: 
	NAME OF BUSINESS3: 
	FAX NO2: 
	EMAIL ADDRESS2: 
	TYPE OF WORK2: 
	TELEPHONE NO2: 
	AMOUNT OF CONTRACT2: 
	ADDRESS2: 
	CONTACT NAME2: 
	NAME OF BUSINESS2: 
	FAX NO1: 
	EMAIL ADDRESS1: 
	TYPE OF WORK1: 
	TELEPHONE NO1: 
	AMOUNT OF CONTRACT1: 
	ADDRESS1: 
	CONTACT NAME1: 
	NAME OF BUSINESS1: 
	FAX NO: 
	EMAIL ADDRESS: 
	TYPE OF WORK: 
	TELEPHONE NO: 
	AMOUNT OF CONTRACT: 
	ADDRESS: 
	CONTACT NAME: 
	NAME OF BUSINESS: 
	HAS PERFORMED THE FOLLOWING WORK WITHIN THE LAST THREE YEARS: 
	HEREBY CERTIFY THAT COMPANY: 
	I: 
	Print Name and Titleposition: 
	Text Field1: 
	County of: 
	State of: 
	Text Field6: 
	Text Field5: 
	Text Field4: 
	Text Field3: 
	Text Field2: 
	Text Field11: 
	Text Field00: 
	Check Box15: Off
	Check Box14: Off
	Check Box13: Off
	Check Box12: Off
	Check Box11: Off
	Check Box10: Off
	Check Box9: Off
	Check Box8: Off
	Check Box7: Off
	Check Box6: Off
	Check Box5: Off
	fill_49: 
	List any documented violations of federal or state labor laws regulations or standards or occupationalsafety and health rules: 
	List any contracts not completed on time: 
	List any prior suspensions or debarments by any government agency1: 
	List any prior suspensions or debarments by any government agency: 
	List any convictions or civil judgments under state or federal antitrust statutes1: 
	List any convictions or civil judgments under state or federal antitrust statutes: 
	fill_48: 
	fill_47: 
	fill_46: 
	fill_45: 
	fill_44: 
	fill_43: 
	fill_42: 
	fill_41: 
	fill_40: 
	fill_39: 
	fill_38: 
	fill_37: 
	fill_36: 
	fill_35: 
	fill_34: 
	fill_33: 
	fill_32: 
	fill_31: 
	fill_30: 
	fill_29: 
	fill_28: 
	fill_27: 
	fill_26: 
	fill_25: 
	fill_24: 
	fill_23: 
	fill_22: 
	fill_21: 
	fill_20: 
	fill_19: 
	fill_18: 
	fill_17: 
	fill_16: 
	fill_15: 
	fill_14: 
	fill_13: 
	fill_12: 
	fill_11: 
	fill_10: 
	fill_9: 
	fill_8: 
	fill_7: 
	fill_6: 
	fill_5: 
	Relationship toReportingEntity: 
	fill_4: 
	Check Box4: Off
	Check Box3: Off
	Check Box2: Off
	Check Box1: Off
	Check Box0: Off
	INITIAL: 
	SIGNATORY TITLE: 
	SIGNATORY FIRST  LAST NAME: 
	EMAIL address for Purchase orders to be emailed this is mandatory: 
	EMAIL address: 
	fill_3: 
	Telefax Number: 
	Telephone Number: 
	Text Field0: 
	TitlePosition: 
	Name of Individual Completing this form: 
	FID No: 
	fill_2: 
	fill_1: 
	fill_0: 
	Address: 
	Name of the Reporting Entity: 


